Algebra I Practice Test --- Geometry and Measurement
(EOC Reporting Category 4)

1.  What is the length of a segment whose endpoints are (2, –3) and    (6, 1)?
A.  
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B.  
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C.  
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D.  16

2.  A 4-ounce package of jelly beans costs $1.15.  Which is closest to the cost per pound?

    
A.  $0.58


B.  $0.29


C.  $4.60


D.  $3.45

3.  Which is closest to the area of the figure?

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	



               = 1 square unit

 
A.  23 square units

B.  26 square units


C.  29 square units


D.  32 square units

4.  Melissa can crochet at an average rate of 3 square inches per minute.  Which is closest to this rate in square feet per hour?


A.  1.25


B.  0.80


C.  15


D.  2.4

5.  What number correctly completes this equation?


24 square yards = _____ square feet


A.  2.7


B.  9


C.  72


D.  216

6.  The diagram below shows the dimensions for the front surface of a dog house.

                                  20 in

                                                     x




                                  40 in.


What is the dimension, in inches (in) represented by x?


A.  
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B.  
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C.  
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D.  
[image: image7.wmf]135


7.  What are the coordinates of the midpoint of a line segment with endpoints (–3, 9) and (11, 1)?


A.  (7, 4)


B.  (7, 5)


C.  (4, 4)


D.  (4, 5)

8.  The size of a television is given by the length of its diagonal.  Which is closest to the length, in inches, of the diagonal of Brandon’s new television, whose dimensions are shown below?



                   48 inches


A.  60 inches


B.  84 inches


C.  50 inches


D.  42 inches

9.  One type of speaker wire regularly costs $4.63 per foot.  When the wire is on sale, it costs $3.15 per foot.  Which is closest to the difference in the cost per inch for the wire when it is on sale compared to its regular price?


A.  1.48 cents per inch


B.  6.2 cents per inch


C.  12.3 cents per inch


D.  24.7 cents per inch

10.  Which is closest to the area of the  figure?

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	



               = 1 square unit


 A.  16 square units


 B.  19 square units


 C.  23 square units


 D.  26 square units

11.  Which value is closest to the perimeter of     QRS, in units?
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 A.  20 


 B.  22

 C.  24

 D.  26
15 in.





30 in.





36 inches





?








_1324969057.unknown

_1324970158.unknown

_1324970200.unknown

_1324970208.unknown

_1324970187.unknown

_1324969079.unknown

_1324969023.unknown

